&3 MARENO NT78G

ENJOY YOUR KITCHEN

FLLLLTTS
L "'.,

. »
AT

[m]
*
]
%
Q
o
*
%
®

21,80 Ces@ “' D27 Qe+x o

@ - @50 @«

’
|q| @1,05 Ome AMARY 214 me

IDGAS: 0O G30/50 G30/37 mG30/29 O G20/20 < G20/25 e G25/25 @ G25.1/25 x G25/20 « G120/8 @©G110/8

COTTURA STAR 70 | NT78G
TUTTAPIASTRA A GAS PIANO COTTURA
vasehoaims [3_8T70_010_8_00 | 0916 | Pag.1.1
3/1/2021 9:33:29 AM This document is exclusive property of MARENO ALI Group S.r.l. and should not be distributed, reproduced, into any other Page 10f3

format without prior permission of MARENO ALI Group S.r.l. - Specifications subject to change without prior notice



&3 MARENO NT78G

ENJOY YOUR KITCHEN

Pos Code

Description

0001 MA208111 LEVER [C] PLATES

0003 CR0585671 VALVE [C]

0004 CR0587310 PIPE [C] OVEN TP 900 PILOT

0005 CR0587300 CONDUTTURA BRUCIATORE FORNO TP 900
0006 MA1326500 NUT [C] M16X1,5

0007 MA86720 BICONE [C] D. 10

0008 MACM021700 NOZZLE HOLDER [C]

0009 MA1033700200 NUT [C] M14X1

0010 CR0584410V CRUSCOTTO TUTTAPIASTRA 900 M80
0011 CR1094350 KNOB [C] SHAFT D. 10

0012 CR0935250 BUSH [C]

0013 CR0583980 METAL LABEL [C]

0014 MA15860399 FLANGE [C]

0015 MACM136000 PROTECTION [C] PIEZO UNIT

0016 MA1936100 PIEZO IGNITOR [C]

0017 MA1936400 IGNITOR CABLE SET [C] L. 800
0018 CR0688820 LEFT SIDE PANEL [C] TOP 700

0019 CR0689040 LEFT SIDE PANEL [C] MONOBLOCK 700
0022 CR0585540 CAP [C]

0023 CR0736910 PIPE [C] SOLID TOPS 700 PILOT
0025 CR0580380 PROTECTION GRID [C] SMOKE DRAIN M60
0026 MACMO052300 CLOSING [C]

0027 CR0736900 PIPE [C] SOLID TOPS 700 BURNER
0029 MACM020409 AERATOR [C]

0030 MACMO040400 GRAIN [C]

0031 MACM002900 BURNER [C] SOLID TOPS 700

0036 MACM029000 PILOT [C]

0037 MA1888100 BICONE [C] D. 4

0038 MA673500 NUT [C] M10X1

0039 MA1888400 CONNECTOR [C] IGNITOR CLAMPING
0040 MA1891700 CONNECTOR [C] THERMOCOUPLE
0041 MA1949900 IGNITOR [C]

0042 MACM029100 THERMOCOUPLE [C] L 850

0043 MA1888600 GAS TAP [C] 22S

0044 MA673100 NUT [C] M20X1,5

0045 BN6A016300 BICONE [C] D. 12

0046 MA673500 NUT [C] M10X1

0047 MA673600 BICONE [C] D. 4

0048 BN6A011470 BICONE [C] D. 10

0049 MA673200 NUT [C] M20X1,5

0902 CR0737210 NOZZLE [C] D. 225

0902 CR0797020 UGELLO LUNGO /470

0902 CR0797030 UGELLO LUNGO /430

0902 MA1421700 NOZZLE [C] D. 130

0902 MA1630700 NOZZLE [C] D. 140

0902 MA1631100 NOZZLE [C] D. 250

0902 MA2715300 NOZZLE [C] D. 150

3/1/2021 9:33:29 AM

This document is exclusive property of MARENO ALI Group S.r.l. and should not be distributed, reproduced, into any other

format without prior permission of MARENO ALI Group S.r.l. - Specifications subject to change without prior notice

Page 2 of 3



&3 MARENO

ENJOY YOUR KITCHEN

Pos Code

0902
0902
0903
0903
0903
0904
0904

3/1/2021 9:33:29 AM

MA707300

MA795900

MA1887800
MA1887900
MA1888000
MA1883800
MA1884100

Description

UGELLO LUNGO /210
NOZZLE [C] D. 240
NOZZLE [C] D. 27 PILOT
NOZZLE [C] D. 50 PILOT

NOZZLE [C] D. 14 PILOT

SCREW MINIMUM [C] 1.80 GAS TAP 22S
SCREW MINIMUM [C] 1.05 GAS TAP 22S

This document is exclusive property of MARENO ALI Group S.r.l. and should not be distributed, reproduced, into any other

format without prior permission of MARENO ALI Group S.r.l. - Specifications subject to change without prior notice

NT78G

Page 3 of 3



